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Lo i - Numbers, operations and retationships

Total: 30 Marks

lnformaI c[ass assessment

A.

Four international hockey tearns played

came to watch them PlaY, '
at Ashton And had rnan)' spectators who

Teams PIaYing $A

Germany

Switzerland

2fiA8 \
CanaCa

Amoqmt of sPectators

a. Write the numbers of spectators from big tg Fmalt (descending) from the

above table'

b. Write all the evem numbers

S*; lr, {11

1 ft41 .. ,,r'



B. VYrite each. of thg qm,ountq in e4p?nded notatipn.
---trr.-

1 041=
,:

3 756 = 
'-i

2648 =

C. Writg amounts below in Words

3756=

(4)

1041=

D, Round ,qff !g th.e ngare.st 10Q

Bubble Nurnbe rS

@
@

a)i
I

I

b)

Write 4
numbers

thot round
to 4OO

{4)

Which two bubble nurnbers

round off to 700?
*" f ] ,---and i,ih ."'

V1/hich two bubble nurnbers

round off to 600?
I -. 
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E. Look at the following lnput and output and complete:
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ZL

25

(5)

F, Halve the following numbers and show the methpd.

a.485 = i;- '

lr
'i i)

a

b.3533=

lI "rI

(:2)

G, Double the following nurnbers and show the mFffiod.
.t :

a.949= 'j: i

b. 2738 =

(2)



-.

<or=

a, 245 q- 240+50+4 ;

700+4+5000+2Ab. 5 274 =--

c. 334 (100x3)+30+4

48+Z ; (6x3)+21

9x4 .=. 4xg

l. Making sense of problems:

Sonre problems ore eosier to so/ve if you do a drowing. Moke a drowing
of eoch of these stories,. if you n*d it to solve the problems.

l. A straiglrt fence is held up by wooden poles. The poles are
2 rn apart. The fence has 13 poles. How long is the fence?
(Draw all the poles if you need to. Wite 2 m betvreen eoch poir.)

.l

'.1..i,, f i)'i , . .f li ,'). Tl-rere is irow of dovlei sitting on a teie!6one line. The middle

rJove is the eighth r:ne from the end. How many doves are sitting in

the rowT (Drow o line wth o circle for eoch dove i{ you need to,)

d.

g. (5)

(4)
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